Algorithme

If [total received] – [rejected] < [target load] * [total received]

Then


Accept the call

Else


Reject the call

End If

Exemple (target load = 0.5)
	
	Totale Appel traité
	Totale Appel rejeté

	1
	0
	0
	Accepté

	2
	1
	0
	Rejeté

	3
	2
	1
	Rejeté

	4
	3
	2
	Accepté

	5
	4
	2
	Rejeté

	6
	5
	3
	Accepté

	7
	6
	3
	Rejeté

	8
	7
	4
	Accepté

	9
	8
	4
	Rejeté

	10
	9
	5
	Accepté


Exécution
Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.3

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 0

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD: Target_Load = 50

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD: TOT_Calls = 0 | TOT_Reject = 0

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD: Appel Reussi : 0 < 0
Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD: Update Total Calls_Verzon

Nov  4 12:36:58 s15293146 /usr/sbin/kamailio[25145]: => ACD: Traitement Terminé

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 1

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: Target_Load = 50

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: TOT_Calls = 1 | TOT_Reject = 0

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: Appel Rejeté : 100 >= 50
Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: Nb_Reject_Verzon = 0

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: Update Total Calls_Verzon

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25159]: => ACD: Traitement Terminé

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD:  IP Reception = 212.227.250.146 ¦ Ip_Routage = 217.168.45.3

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 2

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD: Target_Load = 0

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD: TOT_Calls = 2 | TOT_Reject = 1

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD: Appel Reussi : 100 < 0

Nov  4 12:37:26 s15293146 /usr/sbin/kamailio[25141]: => ACD: Traitement Terminé

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 2

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: Target_Load = 50

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: TOT_Calls = 2 | TOT_Reject = 1

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: Appel Rejeté : 100 >= 100
Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: Nb_Reject_Verzon = 0

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: Update Total Calls_Verzon

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25149]: => ACD: Traitement Terminé

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD:  IP Reception = 212.227.250.146 ¦ Ip_Routage = 217.168.45.3

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 3

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD: Target_Load = 0

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD: TOT_Calls = 3 | TOT_Reject = 2

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD: Appel Reussi : 100 < 0

Nov  4 12:38:19 s15293146 /usr/sbin/kamailio[25142]: => ACD: Traitement Terminé

Nov  4 12:38:34 s15293146 /usr/sbin/kamailio[25157]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:38:34 s15293146 /usr/sbin/kamailio[25157]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:38:34 s15293146 /usr/sbin/kamailio[25157]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:38:34 s15293146 /usr/sbin/kamailio[25157]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 3

Nov  4 12:38:34 s15293146 /usr/sbin/kamailio[25157]: => ACD: Target_Load = 50

Nov  4 12:38:35 s15293146 /usr/sbin/kamailio[25157]: => ACD: TOT_Calls = 3 | TOT_Reject = 2

Nov  4 12:38:35 s15293146 /usr/sbin/kamailio[25157]: => ACD: Appel Reussi : 100 < 150

Nov  4 12:38:35 s15293146 /usr/sbin/kamailio[25157]: => ACD: Update Total Calls_Verzon

Nov  4 12:38:35 s15293146 /usr/sbin/kamailio[25157]: => ACD: Traitement Terminé

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.3

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 4

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: Target_Load = 50

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: TOT_Calls = 4 | TOT_Reject = 2

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: Appel Rejeté : 200 >= 200
Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: Nb_Reject_Verzon = 0

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: Update Total Calls_Verzon

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25145]: => ACD: Traitement Terminé

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD:  IP Reception = 212.227.250.146 ¦ Ip_Routage = 217.168.45.3

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 5

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD: Target_Load = 0

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD: TOT_Calls = 5 | TOT_Reject = 3

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD: Appel Reussi : 200 < 0

Nov  4 12:39:16 s15293146 /usr/sbin/kamailio[25141]: => ACD: Traitement Terminé

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 5

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD: Target_Load = 50

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD: TOT_Calls = 5 | TOT_Reject = 3

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD: Appel Reussi : 200 < 250
Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD: Update Total Calls_Verzon

Nov  4 12:39:28 s15293146 /usr/sbin/kamailio[25149]: => ACD: Traitement Terminé

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.3

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 6

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: Target_Load = 50

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: TOT_Calls = 6 | TOT_Reject = 3

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: Appel Rejeté : 300 >= 300
Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: Nb_Reject_Verzon = 0

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: Update Total Calls_Verzon

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25159]: => ACD: Traitement Terminé

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD:  IP Reception = 212.227.250.146 ¦ Ip_Routage = 217.168.45.3

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 7

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD: Target_Load = 0

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD: TOT_Calls = 7 | TOT_Reject = 4

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD: Appel Reussi : 300 < 0

Nov  4 12:39:45 s15293146 /usr/sbin/kamailio[25142]: => ACD: Traitement Terminé

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.3

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 7

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD: Target_Load = 50

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD: TOT_Calls = 7 | TOT_Reject = 4

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD: Appel Reussi : 300 < 350
Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD: Update Total Calls_Verzon

Nov  4 12:39:55 s15293146 /usr/sbin/kamailio[25149]: => ACD: Traitement Terminé

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 8

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: Target_Load = 50

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: TOT_Calls = 8 | TOT_Reject = 4

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: Appel Rejeté : 400 >= 400
Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: Nb_Reject_Verzon = 0

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: Update Total Calls_Verzon

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25145]: => ACD: Traitement Terminé

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25143]: => ACD:  IP Reception = 212.227.250.146 ¦ Ip_Routage = 217.168.45.3

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25143]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25143]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25143]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 9

Nov  4 12:40:00 s15293146 /usr/sbin/kamailio[25143]: => ACD: Target_Load = 0

Nov  4 12:40:01 s15293146 /usr/sbin/kamailio[25143]: => ACD: TOT_Calls = 9 | TOT_Reject = 5

Nov  4 12:40:01 s15293146 /usr/sbin/kamailio[25143]: => ACD: Appel Reussi : 400 < 0

Nov  4 12:40:01 s15293146 /usr/sbin/kamailio[25143]: => ACD: Traitement Terminé

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD:  IP Reception = 87.106.213.52 ¦ Ip_Routage = 212.249.15.9

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD:  ACD_Colt = NULL ¦ ACD_Verizon = 8.75

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD:  Reject_Colt = 0 ¦ Reject_Verizon = 50

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD:  TotalCalls__Colt = 0 ¦ TotalCalls_Verizon = 9

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD: Target_Load = 50

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD: TOT_Calls = 9 | TOT_Reject = 5

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD: Appel Reussi : 400 < 450
Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD: Update Total Calls_Verzon

Nov  4 12:40:05 s15293146 /usr/sbin/kamailio[25149]: => ACD: Traitement Terminé

